60000 -

0
40000 -

100
20000 -

200 0 _b

0 100 200 0 100 200
i 25000

300 1088 20000
20000 -

400

0 100 200 300 400 500 600

0 100 200

100 100

200
200

o

100 200 30

(=}

|

300 0.25 0.50 0.75 1.00

400

100

BERRARE]

200

Gn_pct
==o== (Gn_pct
=== (n_avg 0 100 200 300
—— Gn_avg —
=== (n_avg
—— Gn_avg - 0 5 1 0
=== Gn_avg
=== (Gn_avg
=== Gn_avg
=== Gn_avg
Gn_avg
80000 =s=—Ln aua 0
60000 - 100
40000
200
20000 ~ 0 100 200 300
|
0 - 0.25 0.50 0.75 1.00
1.0 — 0
=== (Gn_pct
==o== Gn_pct
=== (Gn_pct
=—e== (Gn_pct " 100
=== Gn_pct
0 100 200 300 400 500 600 —e— Gn_pct
==o== Gn_pct
== Gn_pct _ 200
Gn_pct
=== Gn_pct
0.2 - \ == (n_avg 0 100 200 300
0.00 0.05 0.10 0.15 0.20 0.25 0.30 : — g"—a"g _
0.0 L : e e 0.25 0.50 0.75
0.0 2.5 5.0 ——/Gn.ave
bin no — Gnave
=== Gn_avg
=== (Gn_avg
Gn_avg
0 e n 0
125000
100 100000 - 100
75000 ~
200
200 50000
95000 4 0 100 200 300
300 0 - . 0.25 0.50 0.75 1.00
0.0 0.5 1.0
1. 0 N [ [] “\ ‘ JI" — 0
400 \M", l{/ =
-l \”' ——anpots 100
/,I ‘ === Gn_pct
0.6 | =—o= (n_pct
XIlf === Gn_pct
0.4 - \ === Gn_pct 200
Gn_pct
=== Gn_pct
0.2 —— Gn_avg 0 100 200 300
— Gnave —
== (Gn_avg
0.0 , e G ave 0.5 1.0 1.5 20
0.0 2.5 50— Gnaw
bin no —* Gnave
=== Gn_avg
=== (Gn_avg
Gn_avg
e (On ovg 0
100000
60000 -
40000 - 200
20000 -
0 -

Gn_pct
Gn_pct
Gn_pct
Gn_pct ~ 100
Gn_pct
Gn_pct
Gn_pct

Gn_pct 200

Gn_pct

Gn_pct

0

100 200 30

o

Gn_avg
Gn_avg ~

Gn_avg

=)
-
=
N
=
w

Gn_avg -
Gn_avg
Gn_avg
Gn_avg
Gn_avg
Gn_avg
Gn_avg

BERRRRER SR ERRRRRR]



